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WALK - IN - TEST – III 

 
PAPER I – UNIT – III: GENERAL APTITUDE & MENTAL ABILITY 

   Time : 1 hr          Total marks : 75 
SECTION A 

3 × 10 = 30  
Answer any three questions out of five questions.  
Answer not exceeding 150 words each. 
 

1. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. If a principal is getting doubled after 4 years, then calculate the rate of interest.  

Xu; mryhdJ 4 Mz;Lfspy; ,uz;L klq;fhfpwJ vdpy;> tl;b tPjj;ijf; fhz;f.  
Solution: 

Let the principal P = ₹ 100 
Given it is doubled after 4 years 
i.e. Time n = 4 years 
After 4 years A = ₹  200 
/ A = P + I 
 A – P = I 
 200 – 100 = I  
After 4 years interest I = 100 

 I = 
100

Pnr
 

 
100 4

100
100

r 
   

         4r = 100 
       r = 25% 
Rate of interest r = 25% 

 
B. Find the C.I. on ` 15,625 at 8% p.a. for 3 years compounded annually. 

` 15,625f;F Mz;L tl;b 8% tPjk; vdpy;> 3 Mz;LfSf;F $l;L tl;b fhzTk;. 
Solution: 

We know, Amount after 3 years   = 
3

1
100

r
P
 
 

 
 

     = 15625 
3

8
1

100

 
 

 
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     = 15625 
3

2
1

25

 
 

 
 

     = 15625
3

27

25

 
 
 

 

     = 15625 ×
27 27 27

25 25 25
   

Now, Compound interest = A – P = 19,683 – 15,625  
 =  ` 4,058. 

  
2. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
A. If 6 container lorries can transport 135 tonnes of goods in 5 days, how many more 

lorries are required to transport 180 tonnes of goods in 4 days? 
6 ruf;F tz;bfs; 5 ehl;fspy; 135 ld;fs; ruf;Ffis ,lk; ngau;f;fpd;wd vdpy;> 180 
ld;fs; ruf;Ffis 4 ehs;fspy; ,lk; ngau;f;f vj;jid ruf;F tz;bfs; $Ljyhfj; 
Njit? 
Solution: 

Let the number of lorries required more = x. 
 

 

Container lorries Goods (tonnes) Days 

6 135 5 

6 + x 180 4 
 

As the goods are more   More lorries are needed to transport 
/ It is direct proportion 

  1 1 2 2

1 2

M D M D

W W

 
  

  
6 5 (6 ) 4

135 180

x  
  

  x = 4 
/ 4 more lorries are required. 

 
B. Find the largest number which divides 1230 and 1926 leaving remainder 12 in each 

case. 
1230 kw;Wk; 1926 Mfpa vz;fis tFf;Fk;NghJ kPjp 12-Ij; juf;$ba kpfg;ngupa 
vz;izf; fhz;f. 
Solution: 
Since the remainder is 12 in each case, the required number is H.C.F. of the numbers 

  1230 – 12 = 1218 and 1926 – 12 = 1914.  Now to find H.C.F. of 1218 and 1914,  
   we use Euclid‟s Division Algroithm, we have, 
      1914 = 1218 × 1 + 696 
      1218 = 696 × 1 + 522 
        696 = 522 × 1 + 174 
        522 = 174 × 3 + 0 
  /  H.C.F. of 1218, 1914 = 174 
  /  The required number is  174. 
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3. X alone can do a piece of work in 6 days and Y alone in 8 days. X and Y undertook the 

work for ` 4800. With the help of Z, they completed the work in 3 days. How much is Z‟s 
share? 
X vd;gtu; jdpNa xU Ntiyia 6 ehs;fspYk; Y vd;gtu; jdpNa mNj Ntiyia 8 
ehs;fspYk; Kbg;gu;.  X  kw;Wk; Y MfpNahu; ,e;j Ntiyia ` 4800f;F xg;Gf; 
nfhz;ldu;.  Z  vd;gtupd; cjtpAld;. mtu;fs; me;j Ntiyia 3 ehs;fspy; Kbj;jdu; 
vdpy;> njhifapy; Z,d; gq;F vt;tsT? 
Solution: 

X alone can do a piece of work in 6 days 

So, work done by X in 1 day = 
1

6
 

Y alone can do a piece of work in 8 days 

So, work done by Y in 1 day = 
1

8
 

Let Z alone can do the piece of work in “a” days. 

So, work done by Z in 1 day = 
1

a
 

It is also given that, with the help of Z, X and Y can do the piece of work in 3 days 

So, work done by X+Y+Z in 1 day = 
1

3
 Therefore, we can write the eq. as,   

 
1 1 1 1

6 8 3a
    

 
1 1 1 1

3 8 6a
     

 
1 (8 3 4)

24a

 
   

 
1 1

24a
   

 ⇒ a = 24 days 

X and Y undertook the work for ` 4800 (given) 

We know that the wages are shared on the basis of work done and the work done is 

reciprocal of the time taken to do that work, therefore, 

The ratio of work done by X, Y & Z = 
1 1 1

: :
6 8 24

= 4:3:1 

Thus, 

The share of Z from the total money will be, 

= 
1

4800
4 3 1


 

 

= 
1

4800
8
  
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= ì 600 

 
4. Vishal deposited ` 200 per month for 5 years in a recurring deposit account in a post 

office. If he received ` 13,830 find the rate of interest.  
tp~hy; xt;nthU khjj; Jtf;fj;jpYk; ` 200I Xu; mQ;ryfj;jpy; 5 Mz;LfSf;Fr; 
nrYj;jp te;jhu;.  Kbtpy; mtu; ` 13,830 ngw;whu; vdpy;> tl;b tPjk; vd;d? 
 
Solution 
Maturity Amount, A = ` 13, 830,  P = ` 200, n = 5 × 12 = 60 months Period, 

              N  = 
1

12

( 1)

2

n n 
 
 

years 

        = 
1 61

60
12 2

  = 
305

2
years 

     Amount Deposited  = Pn = 200 × 60 = ` 12,000 

     Maturity Amount  = Pn +
100

PNr
 

       13830 = 12000 + 200 × 
305

2
× 

100

r
 

      13830 - 12000 =  305 × r 
       1830 =  305 × r 

          / r  = 
1830

305
 = 6% 

   
5. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

A. Find the HCF of the numbers 18, 24 and 30 by factor tree method. 
18> 24 kw;Wk; 30 ,tw;wpd; kP.ngh.t-I fhuzpr;nrbg;gl Kiwapy; fhz;f. 

 
Solution: 
 

Let us find the factors of 18, 24 and 30 (use of 
divisibility test rules will also help). 
 

The factors of 18 are 1 , 2 , 3 , 6 , 9 and 18.  
The factors of 24 are 1 , 2 , 3 , 4 , 6 , 8, 12 and 24. 
The factors of 30 are 1 , 2 , 3 , 5, 6 , 10, 15 and 30.  
 

The factors that are common to all the three given 
numbers are 1, 2, 3 and 6 of which 6 is the 
highest. Hence, HCF (18, 24, 30) = 6. 
 

Note that we find that 1 is a trivial factor of all 
numbers. 
 

Let us find the factors of 24 by 
tree method. 
 
 
 
 
 
 
 
Here, 24 = 2 × 2 × 2× 3 
Similarly, we can find the factors 
of 18 and 30. 

 
B. A principal becomes ₹  17,000 at the rate of 12% in 3 years. Find the principal 
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xU njhifahdJ 3 Mz;Lfspy; 12% jdptl;b tPjj;jpy; njhif ₹  17,000 Mff; 
fpilf;fpwJ vdpy;> me;jj; njhifiaf; fhz;f. 
Solution: 

Given the principal becomes ₹  17,000 
Let the principal initially by P 
Rate of Interest r = 12% per annum 
Time n = 3 years 
According to the problem given I = 17000 – P 

     =
3 12

100

P 
 

    17000  = P 
36

100

 
 
 

+ P 

17000  = P 
36

1
100

 
 

 
 

17000  = P 
136

100

 
 
 

 

           P  = 
17000 100

136


 

/ Principal P = 12,500. 
 

SECTION – B 
 3 × 15 = 45  

Answer any three questions out five questions, Answer not exceeding 250 words each.  
 

6. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
A. Sathish kumar borrowed ₹  52,000 from a money lender at a particular rate of simple 

interest. After 4 years, he paid ₹  79,040 to settle his debt. At what rate of interest he 
borrowed the money? 
rjP~;Fkhu; vd;gtu; xU fld; toq;F eguplkpUe;J ₹  52,000 I xU Fwpg;gpl;l jdptl;b 
tPjj;jpy; fldhfg; ngw;whu;. 4 Mz;Lfs; fopj;J rjP~;Fkhu; ₹  79,040 I nkhj;jj; 
njhifahfr; nrYj;jpdhu; vdpy;> jdp tl;b tPjj;ijf; fhz;f. 
Solution: 

  Principal (P) = ₹  52,000 
               Time (n) = 4 years 
                Interest  = Amount – Principal 
    = 79,040 – 52,000 = 27,040 

 We find the Simple Interest (I)  
100

Pnr
    

27040 
52000 4

100

r 
   

 Rate of interest he borrowed (r) 
27040 100

52000 4





= 13% . 
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B. Find the principal if the difference between the simple interest and the compound 
interest for 4 years at 10% annum be equal to ` 8? 
xU Fwpg;gpl;l mrYf;F 4 Mz;LfSf;F 10% tl;b tPjj;jpy; jdp tl;b kw;Wk; $l;L 
tl;bf;F ,ilNaahd tpj;jpahrk; ` 8 vdpy; me;j mriyf; fhz;f. 
Solution: 

 Compound Interest = A – P 

 C.I = P
4

10
1 1 1

100 100

n
R

P P
    

        
     

 

 C.I = 0.4641P 

 Simple interest, S.I. = 
100

PNR
 

 S.I = 
10 4

100

P 
 

 S.I = 0.4P 
 Now. C.I – S.I. = 8 
  0.4641P – 0.4 P = 8 
  0.0641P = 8 

   
8

0.0641
P   

   P = 124.80 
 
 

7. Find the rate of compound interest at which a principal becomes 1.69 times itself in 2 years. 
Xh; mryhdJ> $l;Ltl;b Kiwapy; 2 Mz;Lfspy; mijg;Nghd;W 1.69 klq;F MfpwJ 
vdpy;> tl;b tPjj;ijf; fhz;f.  

 Solution:  
 Let P be the principal  
 By the given data, the principal becomes 1.69 times itself after 2 years.  

           A =  
2

1
100

r
P
 
 

 
 

    1.69 P = 
2

1
100

r
P
 
 

 
 

    1.69 = 
2

1
100

r 
 

 
 

    (1.3)2 = 
2

1
100

r 
 

 
 

    1
100

r
 = 1.3 

    1.3 1
100

r
   

    0.3
100

r
  

    r = 30%  



 

  

7 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 
 
 

  The rate of interest = 30%  
 

8. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 
A. A small–scale company undertakes an agreement to make 540 motor pumps in 150 

days and employs 40 men for the work. After 75 days, the company could make only 
180 motor pumps. How many more men should the company employ so that the work 
is completed on time as per the agreement?  
xU rpW njhopy; epWtdk;> 40 Mz;fisg; gzpaku;j;jp 150 ehs;fspy; 540 tpirg;nghwp 
,iwg;gpfisj; (Motor Pumps) jahupj;J toq;f Xu; xg;ge;jj;ij vLj;Jf;nfhs;fpwJ.  
75 ehs;fSf;Fg; gpwF> me;epWtdj;jhy; 180 tpirg;nghwp ,iwg;gpfis kl;LNk 
jahupf;f Kbe;jJ.  NtiyahdJ xg;ge;jj;jpd;gb Neuj;jpw;F Kba> $Ljyhf vj;jid 
Mz;fis me;epWtdk; gzpaku;j;j Ntz;Lk;? 
Solution: 

Let the number of men to be appointed more be x.  
To produce more pumps more men required  
∴ It is direct variation.  

∴ The multiplying factor is 
360

180
 More days means less employees needed.  

∴ It is Indirect proportion.  
40 75 (40 ) 75

180 360

x  
  

  40 = x  
40 more man should be employed to complete the work on time as per the 
agreement.  
 

B. What is the smallest 5 digit number that is exactly divisible by 72 and 108? 

72 kw;Wk; 108 Mfpa vz;fshy; rupahf tFglf;$ba kpfr;rpwpa 5 ,yf;f vz; vd;d? 
Solution:           
Let us find the LCM of 72 and 108, first 72 = 2 × 2 × 2 × 3 × 3   
108 = 2 × 2 × 3 × 3 × 3     

LCM is 2 × 2 × 2 × 3 × 3 × 3 = 216  
Next divide 10000 by 216 to get 46.296.  
So the smallest five digit number divisible by 
    72 and 108 is 47 × 216 = 10152  

  
9. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
A. Find the H.C.F. of 252525 and 363636. 

252525 kw;Wk; 363636 vd;w vz;fspd; kP.ngh.t fhz;f. 
Solution: 
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   252525 = 1 2 1 1 13 5 7 13 37     

   363636  = 2 3 1 1 12 3 7 13 37     

      H.C.F = 1 1 1 13 7 13 37    
      = 3 × 3367 
       = 10101. 

 

B. „a‟ and „b‟ are two positive integers such that b aa × b  = 800. Find „a‟ and „b‟ 
b aa × b = 800 vd;wthW mikAk; ,U kpif KOf;fs; ‘a’ kw;Wk; ‘b’I fhz;f. 

Solution  
The number 800 can be factorized as 

  800 = 2 × 2 × 2 × 2 × 2 × 5 × 5 =  5 22 5  

            Hence,  b aa × b  = 5 22 5  
This implies that a = 2 and b = 5 (or) a = 5 and b = 2 . 
 

10. 3 Men and 4 Women working together for 7 days, earn ` 3,780 while 11 men and 13 
women working together for 8 days earn `15,040. In how many days will 7 men and 9 
women earn ` 12,400? 
3 Mz;fs; 4 ngz;fs; 7 ehl;fs; Ntiyghu;j;J ` 3,780 k; 11 Mz;fs;> 13 ngz;fs; 8 
ehl;fs; Ntiyghu;j;jjpy; ` 15,040k; <l;bdu; vdpy;> 7 Mz;fSk; 9 ngz;fSk; `  12,400 I 
vj;jid ehl;fspy; <l;b ,Ug;gu;? 
Solution: 

Let, men be x and women be y 

3x + 4y = 
3780

7
 

3x + 4y = 540 

x = 
(540 - 4y)

3
 

11x + 13y = 1880 

11
(540 - 4y)

3
+13y = 1880 

(5940-44y+39y)

3
=1880 

5940 - 5y = 5640 
5y = 5940 - 5640 
5y = 300 
y = 60 

x = 
(540 - 4y)

3
 

x = 
(540 - 240)

3
 

x = 
300

3
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x = 100 
let days be z 

7x + 9y = 
12400

z
 

700 + 540 = 
12400

z
 

1240 = 
12400

z
 

z = 
12400

1240
 

z = 10 
for 10 days 12400 for 7 men and 9 women paid 

 
 
 
 
 
 

 
 
 
 
 
 
 
 


